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Maths [image: ]  Triangles             Group
	Practise skip counting in 2s and 4s. Now say your 2 and 4 times table to a grown up. Try to explain the link between some answers in 2 and 4 times tables 
	Using the digits 5,3,6, make up as many 3 digit numbers as you can.
For example, 635, 536….

Now try it with the digits 2,4,9
	There were 20 people on Train A, 9 people on Train B and 16 people on Train C. How many people were there altogether?

	Find a catalogue that sells toys.  You have £10 to spend on toys and games.  List the name and cost of items and check you have not over spent by adding to final total.

	Practise skip counting in 5s and 10s. Now say your 5 and 10 times table to a grown up. Try to explain the link between some answers in 5 and 10 times tables

	Compare these numbers using  greater (more) than > and < less than symbols. E.g. 49>37
49  37                       372  443
86  73	                   113   155
148  53                      298  986
54    23                      352  123

	Use the counting back strategy to answer-
22-6=
30-7=
36-10=
43-11=
100-12=
	Draw a shape that has:
3 sides
4 sides
6 sides
1 side

	Practise skip counting in 3s Now say your 3 times table to a grown up. 

	Round these numbers to the nearest 10. 
49, 37, 86, 73, 248, 253, 354, 523, 513

Remember if the last number is 5 and over you round up e.g. 49=50
	A ticket cost £5. 7 tickets were sold. How much money was made?
How many tickets could I buy with £45?
	Ben has five coins in his pocket.
How much money might he have? Try to find at least 5 possible answers e.g. 5p +1p+2p+10p+20p = 38p
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